URJC. Biomedical Engineering. Calculus. Midterm Exam I, November 23, 2020.

Midterm Exam I. Page 2 of 2.

The terms of this examination formulated on page 1 also apply to page 2.

Problem 4. (1 mark) Study the continuity of the following function in
x = 0. If the function is discontinuous, state the type of discontinuity.

{12 IO e form <0
2 et #=0

Problem 5. (1.5 marks) By applying the definition of the derivative, de-
termine the derivative of f
f@) = =
=14

in a point x = a. Give the domains of f and f'.

Problem 6. (1 mark) Consider the function

f@)=(z+D(x—1)%2 —-3/2
on the interval [0, 3]. Study (a) the continuity of f and (b) the differentia-
bility of f.

Remark: (a) is worth 0.5 marks, (b) is worth 0.5 marks.

Problem 7. (1.5 marks) Consider the function

flz)=(1~-2)°

on the interval [—2, 2]. Justify the applicability of the mean value theorem
and find the value(s) of ¢ (from the theorem) satisfying the theorem.
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